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Linux shell (mpl115a2.sh):

#!/bin/sh
I12CADDR=0x60

# function parameters:
# $1 : Raw value
# $2 : Number of fractional bits
# $3 : Fraction bit mask
# $4 : Sign bit position
# $5 : Bit mask of valid bits
coeff ()
{
rawval=$1
fractbits=$2
fractmask=$3
signbitpos=$4
validbits=$5
padbits=$6
signval=1
# check for negative sign
sign=$ ((rawval & (1 << signbitpos)))
if | [ $sign —eq 0 ]; then
# Negative number
rawval=$ (((Crawval) & validbits) — 1))
signval=-1
fi
intval=$ ((rawval >> fractbits))
fract=$ ((rawval & fractmask))
maxfract=$ ((1<{fractbits))
fract=$ (((fract * 100000) / maxfract))
fract=. $fract
pad=$ ((1 << padbits))

read_word_register ()

{
reg=9$1
valh="1i2cget —f —y 3 $I12CADDR $reg b
reg=$((reg + 1))
vall="i2cget —f -y 3 $I2CADDR $reg b
echo $(((valh<<8) | vall))

}

# device check

echo “echo $intval $fract $signval $pad | awk ’ {printf”%0.6f¥n”, (($2/$4)+$1)*($3)} "
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aOmsb="i2cget —f -y 3 $12CADDR 0x04 b

if [ $? 1=0 1 ; then
echo “Error: MPL115A2 not detected”
exit 1;

fi

while [ 1 ]; do
# Convert pressure and temperature
i2cset —f -y 3 $I2CADDR 0x12 Oxl b
# 3ms wait
usleep 3000

# get Pressure and temp descriptor
padc=$ (read_word_register 0x0)
tadc=$ (read_word_register 0x2)
figet 10 bit values

padc=$ ((padc >> 6))

tadc=$ ((tadc >> 6))

# get coefficients

rawa0=$ (read_word_register 0x4)
rawb1=$ (read_word_register 0x6)
rawb2=$ (read_word_register 0x8)

rawc12=$ (read_word_register OxA)

a0=$ (coeff rawa0 3 0x7 15 OxFFFF 0)

b1=$ (coeff rawbl 13 Ox1FFF 15 OxFFFF 0)
b2=§ (coeff rawb2 14 0x3FFF 15 OxFFFF 0)
c12=$ (coeff rawcl2 13 Ox1FFF 13 0x3FFF 9)

# Compute pressure

$3+(($4+(§6%$2) ) #$1) +(§5%$2) }*

echo “Pressure : $preskPa kPa”

usleep 500000

done

pcomp=_echo $padc $tadc $a0 $bl $b2 $cl12 | awk * {printf”%0.6f¥n”,

preskPa="echo $pcomp | awk * {printf”%0.3f¥n”, $1%(65/1023)+50} "
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